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PART-I REASONING 
1- Anaemia : Blood :: Anarchy :? 

(A) Disorder  (B) Monarchy 

(C) Government (D) Lawlessness 

2- Editor : Newspaper :: ? 

(A) Table : Carpenter  

(B) Journal : Journalist 

(C) Author: Novel 

(D) Blacksmith : Furnace 

3- Hour : Second :: Tertiary : ? 

(A) Ordinary (B) Secondary 

(C) Primary  (D) Intermediary 

4- Safe : Secure : : Protect? 

(A) Guard  (B) Lock 

(C) Sure  (D) Conserve 

5- Physician : Treatment :: Judge:? 

(A) Punishment (B) Judgement 

(C) Lawyer  (D) Court 

6- EARN: NEAR:: REEF:? 

(A) FEER  (B) FREE 

(C) FERE  (D) EFRE 

7- BDFH : CFIL :: EGIK? 

(A) FHKN  (B) FGKN  

(C) FILO  (D) FLIO 

8- HKNQ : ADGJ :: ORUX : ? 

(A) ACEG  (B) ADGH 

 (C) MPSV  (D) LMNO 

9- CD : 34 :: AB : ? 

(A) 25  (B) 68 

(C) 12  (D) 21 

10- BCD :QPO : : EFG : ? 

(A) TSR  (B) HIJ 

 (C) SRT  (D) JIH 

Find out the pair of numbers that does not 

belong to the group for lack of common 

property 

11- (A) (6,34)  (B) (12, 64) 

 (C) (20, 96)  (D) (09,49) 

Hkkx & d  lkekU; cqf) ,oa rdZ’kfDr 

1- jDrghurk % jDr %% vjktdrk % \ 

(A) xMcMh  (B) jktra= 

(C) ljdkj  (D) vO;oLFkk 

2- lEiknd % lekpkj&i= %% 

(A) est % c<+bZ  (B) if=dk % i=dkj 

(C) ys[kd % miU;kl (D) yksgkj % HkV~Bh 

3- ?k.Vk % lsd.M %% r`rh;d % \ 

(A) lk/kkj.k  (B) f}rh;d 

(C) izkFkfed  (D) e/;orhZ 

4- lqjf{kr % fujkin %% j{kk djuk %\ 

(A) pkSdlh djuk (B) ikf’kr djuk 

(C) fuf’pr djuk (D) ifjjf{kr djuk 

5- fpfdRld % mipkj %% U;k;k/kh’k % \ 

(A) n.M  (B) fu.kZ; 

(C) odhy  (D) vnkyr 

6- EARN: NEAR:: REEF:? 

(A) FEER  (B) FREE 

(C) FERE  (D) EFRE 

7- BDFH : CFIL :: EGIK? 

(A) FHKN  (B) FGKN  

(C) FILO  (D) FLIO 

8- HKNQ : ADGJ :: ORUX : ? 

(A) ACEG  (B) ADGH 

(C) MPSV  (D) LMNO 

9- CD : 34 :: AB : ? 

(A) 25  (B) 68 

(C) 12  (D) 21 

10- BCD :QPO : : EFG : ? 

(A) TSR  (B) HIJ 

 (C) SRT  (D) JIH 

funsZ’k fuEufyf[kr esa ls la[;kvksa ds ml tksMs dks <w¡f<, 

tks lkekU; xq.k ds vHkko esa lewg ¼xqzi½ ls lEcfU/kr 

ugha gS 

11- (A) (6,34)  (B) (12, 64) 

 (C) (20, 96)  (D) (09,49) 
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12- (A) (9,36,81) (B) (32,64,88) 

(C) (55,135,165) (D) (35,63,78) 

13- (A) (20,16,18) (B) (18,14,16) 

(C) (16,12,14) (D) (14,11,13) 

14- (A) (25,36)  (B) (144,169) 

(C) (100,121) (D) (9,64) 

15- (A) (153,45)  (B) (165,80) 

(C) (132,36)  (D) (124,48) 

16- (A) 81-45  (B) 72-91 

(C) 117-99  (D) 135-126 

17- (A) 25-50  (B) 11-121 

(C) 17-289  (D) 15-225 

18- (A) 37-74  (B) 52-26 

(C) 47-84  (D) 88-44 

19- (A) 49-33  (B) 62-46 

(C) 83-67  (D) 70-55 

20- (A) 324-18  (B) 441-21 

 (C) 169-13  (D) 186-14 

21- If – stands for division + stands for 

subtraction, ÷  stands for 

multiplication, ×  stands for addition, 

then which one of the following 

equations is correct? 

(A) 70 − 2 + 4 ÷ 5 × 6 = 44 

(B) 70 − 2 + 4 ÷ 5 × 6 = 21 

(C) 70 − 2 + 4 ÷ 5 × 6 = 341  

 (D) 70 − 2 + 4 ÷ 5 × 6 = 96 

22- If × stands for +, ÷ for -, - for ×, and 

+ for ÷ , find the value of the 

following equation. 

54 ÷ 16 − 3 × 6 + 2 =? 

(A) 9   (B) 12 

 (C) 8   (D) 15 

23- 12348=0 

(A) − + +  (B) ÷ + ÷ 

 (C) −−−  (D) ÷ + − 

 

12- (A) (9,36,81) (B) (32,64,88) 

(C) (55,135,165) (D) (35,63,78) 

13- (A) (20,16,18) (B) (18,14,16) 

(C) (16,12,14) (D) (14,11,13) 

14- (A) (25,36)  (B) (144,169) 

(C) (100,121) (D) (9,64) 

15- (A) (153,45)  (B) (165,80) 

(C) (132,36)  (D) (124,48) 

16- (A) 81-45  (B) 72-91 

(C) 117-99  (D) 135-126 

17- (A) 25-50  (B) 11-121 

(C) 17-289  (D) 15-225 

18- (A) 37-74  (B) 52-26 

(C) 47-84  (D) 88-44 

19- (A) 49-33  (B) 62-46 

(C) 83-67  (D) 70-55 

20- (A) 324-18  (B) 441-21 

(C) 169-13  (D) 186-14 

 

21- ;fn & dk vFkZ gS Hkkx $ dk vFkZ gS ?kVkuk ÷ 

dk vFkZ gS xq.kk X dk vFkZ gS tksM+uk] rks 

fuEufyf[kr esa ls dkSu lk lehdj.k lgh gS\ 

(A) 70 − 2 + 4 ÷ 5 × 6 = 44 

(B) 70 − 2 + 4 ÷ 5 × 6 = 21 

(C) 70 − 2 + 4 ÷ 5 × 6 = 341  

 (D) 70 − 2 + 4 ÷ 5 × 6 = 96 

22- ;fn x ls vfHkizk; gS +, ÷ ls -, - ls x vkSj + 

ls ÷rks] fuEu lehdj.k dk eku crk,¡& 

54 ÷ 16 − 3 × 6 + 2 =? 

 

(A) 9   (B) 12 

(C) 8   (D) 15 

 

23- 12   3   4   8  =0 

(A) − + +  (B) ÷ + ÷ 

 (C) −−−  (D) ÷ + − 
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24- A man is facing East, then he turns 

left and goes 10m, then turns right 

and goes 5 m, then goes 5 m to the 

South and from there 5 m to West. In 

which direction is he from his original 

place? 

(A) East  (B) West 

(C) North  (D) South 

25- Ravi started walking from his house’s 

East direction to Bus stop which is 3 

km away. Then he set off in the bus 

straight towards his right to the school 

4 km away. What is the total  distance 

from his house to the school? 

(A) 1 km  (B) 5 km 

(C) 7 km  (D) 12 km 

26- If day before yesterday was Friday, 

what will be the third day after the 

day after tomorrow? 

(A) Thursday (B) Friday 

(C) Saturday  (D) Sunday 

27- The bus for Chennai leaves every 30 

minutes from a bus depot. The 

enquiry clerk told a passenger that the 

bus for Chennai left 10 minutes ago, 

and the next bus will leave at 10.30 

am. What was the time when enquiry 

clerk told this? 

(A) 10-20 am (B) 10-10 am 

(C) 10 am  (D) 9-50 am 

28- 3,15,35,63,? 

(A) 77   (B) 84 

(C) 99   (D) 98 

29- 22,24,28,?52,84 

(A) 46   (B) 36 

 (C) 38   (D) 42 

 

24- ,d O;fDr dk eq¡g iwoZ dh vksj gS] fQj og 

ck,¡ ?kwerk gS vkSj 10 eh pyrk gS] fQj nk,¡ 

?kwerk gS vkSj 5 eh pyrk gS] fQj 5 eh nf{k.k 

dh vksj tkrk gS vkSj ogk¡ ls 5 eh if’pe dh 

vksjA vius ewy LFkku ls og fdl fn’kk esa gS\ 

(A) iwoZ   (B) if’pe 

(C) mRrj  (D) nf{k.k 

25- jfo us vius ?kj ls iwoZ fn’kk esa cl LVkWi dh 

vksj tkuk 'kq: fd;k tks 3 fdeh nwj gSA fQj 

og lh/kk cl esa nkbZa vksj vius Ldwy dh rjQ 

py iM+k tks 4 fdeh nwj gSA mlds ?kj ls Ldwy 

rd lh/kh nwjh fdruh gS\ 

(A) 1 fdeh  (B) 5 fdeh 

(C) 7 fdeh  (D) 12 fdeh 

26- ;fn ijlksa 'kqØokj Fkk] rks vkxkeh ijlksa ds ckn 

rhljk fnu D;k gksxk\ 

(A) c`gLifrokj  (B) 'kqØokj 

(C) 'kfuokj  (D) jfookj 

27- ,d cl fMiks ls psUubZ ds fy, izR;sd 30 feuV 

ckn cl NwVrh gSA ogha iwNrkN deZpkjh us ,d 

;k=h dks crk;k fd psUubZ dh cl 10 feuV 

igys tk pqdh gS] vxyh cl 10-30 cts izkr% 

tk,xhA rn~uqlkj] tc ml iwNrkn deZpkjh us 

;g lwpuk nh] rks le; D;k Fkk\ 

(A) 10-20 izkr% (B) 10-10 izkr% 

(C) 10 izkr%  (D) 9-50 izkr% 

28- 3,15,35,63,? 

(A) 77   (B) 84 

(C) 99   (D) 98 

29- 22,24,28,?52,84 

(A) 46   (B) 36 

 (C) 38   (D) 42 
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30- a_ba_bb_ab_a 
(A) aabb  (B) baaa 
(C) abab  (D) baab 

31- CAT, FDW,IGZ, ? 
(A) KTC  (B) KJA 
(C) LHD  (D) LJC 

32- WYV, ?, IKH, BDA 
(A) OPR  (B) ROP 
(C) PRO  (D) OQN 

33- The Number of letters skipped in 

between adjacent letters in the series 

is decreased by one. Which of the 

following series observes the rule? 
(A) DJOTV  (B) DJOSV 
(C) DJOSW  (D) DIOSU 

34- In a certain code language BLOOD is 

written as EIRLG. How will the word 

PERIOD be written in that code 

language? 

(A) SBURAF (B) SBUFRA 

(C) SUFBAR (D) RBUFSA 

35- In a certain code language 

INCORPORATE is written as 

HCGJSLJSXHO and PELMET is 

written as LOFDOH. How will the 

word MOLTEN be written in that 

code language? 

(A) XHOTOR (B) DJFHOC 

(C) LDOHCG (D) FRTECO 

36- Only One meaningful word can be 

formed by rearranging the letter of the 

given jumbled word. Find out that 

word. 

MUSPOPAPOTIH 

(A) METAMORPHIC  

(B) PHILANTHROPIST 

 (C) HIPPOCAMPUS  

 (D) HIPPOPOTAMUS 

 

30- a_ba_bb_ab_a 

(A) aabb  (B) baaa 

(C) abab  (D) baab 

31- CAT, FDW,IGZ, ? 

(A) KTC  (B) KJA 

(C) LHD  (D) LJC 

32- WYV, ?, IKH, BDA 

(A) OPR  (B) ROP 

(C) PRO  (D) OQN 

33- ,d J`a[kyk ds lehiLFk v{kjksa ds chp okys 

NksM+s x;s v{kjksa esa ,d&,d dh deh gksrh tk 

jgh gSA fuEufyf[kr J`a[kykvksa esa ls fdlesa bl 

fu;e dk ikyu fd;k x;k gS\ 

(A) DJOTV  (B) DJOSV 

(C) DJOSW  (D) DIOSU 

34- ;fn BLOOD dks dwV fyfi esa EIRLG fy[krs 

gS rks PERIOD ds dwVk{kj D;k gksaxs\ 

(A) SBURAF (B) SBUFRA 

(C) SUFBAR (D) RBUFSA 

35- ;fn fdlh dwV fyfi esa INCORPORATE dks 

HCGJSLJSXHO dh rjg vkSj PELMET 

dks LOFDOH dh rjg fy[kk tkrk gS] rks ml 

dwV fyfi esa MOLTEN fdl izdkj fy[kk 

tk;sxk\ 

(A) XHOTOR (B) DJFHOC 

(C) LDOHCG (D) FRTECO 

36- fn, x, vO;ofLFkr 'kCn ds v{kjksa dks iqu% 

Øec) dj dsoy ,d lkFkZd & 'kCn cu ldrk 

gSA ml 'kCn dks Kkr dhft,& 

MUSPOPAPOTIH 

(A) METAMORPHIC  

(B) PHILANTHROPIST 

 (C) HIPPOCAMPUS  

 (D) HIPPOPOTAMUS 
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Directions (37-38) In the following question, 

one statement is given followed by two 

Assumptions I and II. You have to consider 

the statement to be true even if it seems to 

be at variance from commonly known facts. 

You have to decide which of the given 

assumptions, if any follow from the given 

statements. 
37- Statement Education and wealth lead 

to progress. 
Assumptions 

I- Progress is possible if you are 

wealth. 
II- Educated people are wealthy. 
(A) Only I is valid 
(B) Only II is valid 
(C) Both assumptions are valid 
(D) Both assumptions are invalid 

38- Statement Politicians become rich by 

the votes of the people. 
Assumptions 

I- People vote to make politicians 

rich. 
II- Politicians become rich by their 

virtue. 
(A) Only I is implicit 
(B) Only II is implicit 
(C) Both I and II are implicit 
(D) Both I and II are not implicit 

39- Umesh is taller than Satish, Suresh is 

shorter than Neeraj, but taller than 

Umesh. Who is the tallest among 

them? 
(A) Umesh  (B) Suresh 
(C) Satish  (D) Neeraj 

40- In a row of 15children, when Raju 

was shifted three places towards right, 

he becomes 8
th

 from the right end. 

What was the earlier position from the 

left end of the row? 
(A) 14  (B) 5 

 (C) 6   (D) 12 

 

funsZ’k 37&38 fuEufyf[kr iz’u esa ,d dFku ds vkxs 

nks iwokZuqeku I o II fn, x, gSA vki lkekU; Kkr 

rF;ksa esa vUrj gksus ij Hkh dFku dh iM+rky] lR; 

le>dj djsaA vki r; djsa fd fn, x, iwokZuqeku esa ls 

dkSu lk] ;fn dksbZ gks] fn, x, dFku ls fudyrk gS 

37- dFku%& f’k{kk vkSj /ku izxfr dh vksj ys tkrs 

gSA 

iwokZuqeku 

I- ;fn vki /kuh gksa rks izxfr lEHko gSA 

II- f’kf{kr yksx /kuh gksrs gSA 

(A) dsoyI gh ekU; gS 

(B) dsoyII gh ekU; gSA 

(C) nksuksa iwokZuqeku ekU; gS 

(D) nksuksa iwokZuqeku vekU; gS 

38- dFku%& jkuhfrK yksxksa ds erksa ls /kuoku cu 

tkrs gSA 

iwokZuqeku 

I- yksx jktuhfrKksa dks /kuoku cukus ds 

fy, er nsrs gSA 

II- jktuhfrK vius xq.kksa ls /kuoku cu 

tkrs gSA 

(A) dsoyI gh vUrfuZfgr gS 

(B) dsoyII gh vUrfuZfgr gSA 

(C) I ,oaII nksuksa vUrfuZfgr gS 

(D) I ,oaII nksuksa vUrfuZfgr ugha gS 

39- mes’k] lrh’k ls yEck gS] lqjs’k yEckbZ esa uhjt 

ls NksVk gS] fdUrq mes’k ls yEck gSA muesa lcls 

yEck dkSu gS\ 

(A) mes’k  (B) lqjs’k 

(C) lrh’k  (D) uhjt 

40- 15 cPpksa dh ,d iafDr eas tc jktw dks nkbZ 

vksj rhu LFkku LFkkukarfjr dj fn;k x;k rks 

nk,¡ Nksj ls og vkBosa uEcj ij vk x;kA ;g 

crkb, fd iafDr ds ck,¡ Nksj ls mldk iwoZ 

LFkku D;k Fkk\ 

(A) 14   (B) 5 

 (C) 6   (D) 12 
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41- Select the option which will complete 

the given table 

169 64 81 30 

625 ? 49 50 

1296 576 100 70 

(A) 324  (B) 289 

(C) 441  (D) 361 
42- The age of Ram is double that of 

Shyam and half that of Sohan. Shyam 

is older than Mohan, then who is the 

oldest? 
(A) Mohan  (B) Ram 
(C) Sohan  (D) Shyam 

Directions (43) which one of the given 

responses would be a meaningful order of 

the following? 
43- 1- Rain  2- Monsoon 

3- Rescue  4- Flood 

5- Shelter  6- Relief 

(A) 1,2,4,5,3,6 (B) 5,1,2,3,4,6 

(C) 2,1,4,3,5,6 (D) 5,2,3,4,1,6 
44- Which of the following figure depicts 

the relationship between snake, lizard 

& reptiles? 

 
45- In the given diagram, what is the 

number of female doctors, who are 

unemployed? 

 
(A) 7   (B) 3 

 (C) 1   (D) 8 

 

 

41- uhps fn;s x;s fodYiksa esa ls fjDr LFkku ij D;k 

vk;sxk\ 

169 64 81 30 

625 \ 49 50 

1296 576 100 70 

(A) 324   (B) 289 

(C) 441   (D) 361 
42- jke dh vk;q ';ke dh vk;q ls nksxquh gS vkSj 

lksgu dh vk;q ls vk/kh gSA ';ke eksgu ls cM+k 

gS] rks ;g crkb, fd buesa ls lcls cM+k dkSu 

gS\ 

(A) eksgu   (B) jke 

(C) lksgu  (D) ';ke 
fuEufyf[kr fodYiksa esa ls dkSu lk uhps fn, gq, 'kCnksa 

dk lkFkZd Øe n’kkZrk gS\ 

43- 1- o"kkZ   2- ekulwu 

3- cpko  4- ck<+ 

5- 'kj.k  6- jkgr 

(A) 1]2]4]5]3]6 (B) 5]1]2]3]4]6 

(C) 2]1]4]3]5]6 (D) 5]2]3]4]1]6 
44- fuEufyf[kr eas ls dkSu lk osu vkjs[k lk¡i] 

fNidyh] jsaxus okys ¼ljhl`i½ ds chp lEcU/k 

dk lgh fu:i.k djrk gS\ 

 

45- fuEufyf[kr vkjs[k esa dkSu lh la[;k mu efgyk 

MkWDVjksa dks n’kkZrh gS tks jkstxkj esa ugha gS\ 

 

(A) 7   (B) 3 

 (C) 1   (D) 8 
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46- Which of the following answer 

figure is embedded/ hidden from 

the question figure. 
Question figure 

 
 

Answer figure 

 

47- How many squares are there in a 

given diagram? 

 
(A) 10   (B) 11 

(C) 12   (D) 14 

48- Which of the following answer 

figure is embedded in the 

question figure. 

Question figure. 

 
 

Answer figure 

 

 

46- pkj mRrj vkd`fr;ksa eas ls dkSu lh uhps iz’u 

vkd`fr eas fn, x, dVs gq, VqdMksa ls cu ldrh 

gS\ 

iz’u vkd`fr 

 

 

mRrj vkdfr 

 

47- uhps fn, g, js[kkfp= esa dqy fdrus oxZ gS\ 

 

(A) 10   (B) 11 

(C) 12   (D) 14 

48- nh xbZ mRrj vkd`fr;ksa esa ls ml ,d dks pqfu,] 

ftlesa iz’u vkd`fr fufgZr gSA 

iz’u vkd`fr 

 
 

mRrj vkd`fr 
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49- A piece of paper is folded and 

punched as shown below in the given 

question figure. Select the Answer 

figure, which will appear when 

opened. 

Question figure 

 
Answer figure 

 
50- Select the answer figure which will 

complete the question figure. 

question figure 

 
answer figure 

  

Direction Select the related Word from 

the given alternatives 

51- Taste : Tongue :: Walk : ? 

(A) Pavement (B) Crutch 

(C) Legs  (D) Walking stick 

52- Chimney : Smoke : : ? 

(A) Gun : Bullet (B) House : Roof 

(C) Clay : Ceramic (D) Tea : Kettle 

53- Camera : Lens :: Flash : ? 

(A) Bulb  (B) Night 

(C) Light  (D) Shutter 

54- XZY : WVU :: CAB :? 

(A) UVW  (B) ABC 

 (C) FED  (D) DEF 

49- uhps iz’u vkd`fr;ka esa fn[kk, vuqlkj dkxt 

dks eksM+us] Nsn dkVus rFkk [kksyus ds ckn og 

fdl mrrj vkd`fr tSlk fn[kkbZ nsxk\ 

iz’u vkd`fr 

 

mRrj vkd`fr 

 

50- dkSu lh mRrj vkd`fr iz’u vkd`fr ds izfr:i 

dks iwjk djsxh\ 

iz’u vkd`fr 

 

mRrj vkd`fr 

  

uhps fn, x, fodYiksa esa ls lEcfU/kr 'kCn Kkr 

dhft,%& 

51- Lokn % ftâk %% pyuk %\ 

(A) iVjh  (B) cSlk[kh 

(C) Vk¡x   (D) NM+h 

52- fpeuh % /kqvk¡ %%\ 

(A) cUnwd %xksyh (B) ?kj%Nr 

(C) fpduh feV~Vh % e`fRrdk  

(D) pk; % dsVyh 

53- dSejk % ysUl %% ¶yS’k % \ 

(A) cYc  (B) jkr 

(C) izdk’k  (D) 'kVj 

54- XZY : WVU :: CAB :? 

(A) UVW  (B) ABC 

 (C) FED  (D) DEF 



 

 

10 

55- 
𝐿

𝑆
:

12

19
∷

𝐼

𝑇
: ? 

(A) 
12

20
   (B) 

20

9
 

(C) 
9

20
   (D) 

19

20
 

56- QPON : MLKJ :: XWUV:? 

(A) PQRS  (B) TSRQ 

(C) SRQP  (D) GFED 

57- 123:13
2
::235:? 

(A) 23
5
  (B) 25

3
 

(C) 35
2
  (D) 25

2 

58- 27:125::64:? 

(A) 517  (B) 162 

(C) 216  (D) 273 

59- 10:99:: 9:? 

(A) 49  (B) 80 

(C) 69  (D) 97 

Direction: From among the given 

alternative select the one in which the set 

of the number is most like the set of the 

number in the given question. 
60- Given Set 4,20,3 

(A) (7,13,3)  (B) (5,10,15) 

 (C) (3,6,9)  (D) (4,8,16) 

61- I. F is the brother of A. 

II. C is the daughter of A. 

III. K is the sister of F. 

IV. G is the brother of C. 

Who is the uncle of G? 

(A) A   (B) C 

 (C) K   (D) F 

62- A is B’s brother. C is A’s father. D is 

C’s sister and E is D’s Mother. How 

is B related to E? 

(A) Grand daughter 

(B) Great granddaughter 

(C) Grandaunt 

 (D) Daughter 

 

55- 
𝐿

𝑆
:

12

19
∷

𝐼

𝑇
: ? 

(A) 
12

20
   (B) 

20

9
 

(C) 
9

20
   (D) 

19

20
 

56- QPON : MLKJ :: XWUV:? 

(A) PQRS  (B) TSRQ 

(C) SRQP  (D) GFED 

57- 123:13
2
::235:? 

(A) 23
5
  (B) 25

3
 

(C) 35
2
  (D) 25

2 

58- 27:125::64:? 

(A) 517  (B) 162 

(C) 216  (D) 273 

59- 10:99::9:? 

(A) 49  (B) 80 

(C) 69  (D) 97 

uhps fn, x, fodYiksa esa ls ml fodYi dk p;u dhft, 

ftlesa nh gqbZ la[;kvksa dk lewg iz’u esa nh gqbZ 

la[;kvksa ds lewg ds leku gksA 

60- fn;k x;k lewg ¼14]20]3½ 

(A) ¼7]13]3½  (B) ¼5]10]15½ 

(C) ¼3]6]9½  (D) ¼4]8]16½ 

61- I. A dk HkkbZ F gSA 

II. A dh iq=h C gSA 

III. F dh cgu K gSA 

IV. C dk HkkbZ G gSA 

G dk pkpk dkSu gS\ 

(A) A   (B) C 

(C) K   (D) F 

62- A, B dk HkkbZ gSA C, A dk firk gSA D, C dh 

cgu gS vkSj E, D dh ekrk gSA B dk E ds 

lkFk D;k lEcU/k gS\ 

(A) ukfru  (B) iM+ukfru 

 (C) cqvk dh ekSlh (D) iq=h 
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63- If + stands for ‘multiplication’, x 

stands for ‘division’, - stands for 

‘addition’ and ‚ stands for 

‘subtraction’. What is the answer for 

the following equation? 
20-5÷18X(3+2)=? 
(A) 20   (B) 18 

(C) 108  (D) 22 
64- Which one of the following responses 

is correct? 
8*5*27*3*16 
(A) x = - +  (B) - = x +  
(C) x = + -   (D)  + - = x  

Directions Find out the pair of numbers 

that does not belong to the group for lack 

of common property.  
65- (A) ¼24] 43½  (B) ¼35] 54½ 

(C) ¼36] 64½  (D) ¼21] 14½ 

66- (A) ¼1]16]255½  (B) ¼4]13]165½ 

(C) ¼6]15]219½  (D) ¼3]14]196½ 
Directions Find the odd one out from the 

given alternatives. 
67-  (A) 32&41  (B) 62&44 

(C) 46&28  (D) 33&56 

68- (A) 11&13  (B) 11&17 

(C) 31&35  (D) 23&29 

69- (A) Aeroplane (B) Bird 
(C) Tanker  (D) Parachute 

70- (A) Dictaphone (B) Gramophone 
(C) Microphone (D) Telephone 

71- (A) Eyes  (B) Nose 
(C) Lips  (D) Throat 

72- (A) Wheat  (B) Mustard 
(C) Barley  (D) Corn 

73- A man starts from a point, walks 4 

miles North, turns to his right and 

walks 2 miles, again turns to his right 

and walks 2 miles, again turns to his 

right and walks 2 miles. In which 

direction would he be now? 
(A) North  (B) South 

 (C) East  (D) West 

63- ;fn + dk vFkZ ^xq.kk* X dk vFkZ gS ^Hkkx* & 

dk vFkZ gS ^tksM+uk* vkSj ÷ dk vFkZ gS ^?kVkuk* 

rks uhps fn, x, lehdj.k dk mRrj D;k gksxk\ 

20-5÷18X(3+2)=? 

(A) 20   (B) 18 

(C) 108  (D) 22 
64- fuEufyf[kr fodYiksa esa ls dkSu lk lgh gS\ 

8*5*27*3*16 
(A) x = - +  (B) - = x +  
(C) x = + -   (D)  + - = x  

fuEufyf[kr esa ls la[;kvksa ds ml tksMs dks <w¡f<, tks 

lkekU; xq.k ds vHkko esa lewg¼xzqi½ ls lEcfU/kr ugha gS 

65- (A) ¼24] 43½  (B) ¼35] 54½ 

(C) ¼36] 64½  (D) ¼21] 14½ 

66- (A) ¼1]16]255½  (B) ¼4]13]165½ 

(C) ¼6]15]219½  (D) ¼3]14]196½ 
uhps fn, x, fodYiksa esa ls fo"ke 'kCn@la[;k dk p;u 

dhft,A 

67- (A) 32&41  (B) 62&44 

(C) 46&28  (D) 33&56 

68- (A) 11&13  (B) 11&17 

(C) 31&35  (D) 23&29 

69- (A) ok;q;ku  (B) i{kh 

(C) VSadj  (D) gokbZ Nrjh 

70- (A) fMDVkQksu  (B) xkzeksQksu 

(C) ekbØksQksu  (D) VsyhQksu 

71- (A) vk¡[ksa  (B) ukd 

(C) vksaB  (D) xyk 

72- (A) xsgw¡   (B) ljlksa 

 (C) tkS   (D) eDdk 
73- ,d O;fDr ,d LFkku ls pyuk izkjEHk djrk gS 

vkSj mRrj dh vksj 4 ehy pyrk gSA og fQj 

nk,¡ eqM+ tkrk gS vkSj 2 ehy pyrk gSA og 

fQj nk,¡ eqM+ tkrk gS vkSj 2 ehy pyrk gSA 

mlds ckn fQj og nk,¡ eqM+ tkrk gS vkSj 2 

ehy pyrk gSA ;g crkb, fd og vc izkjfEHkd 

fcUnq ls fdl fn’kk esa gS\ 

(A) mRrj  (B) nf{k.k 

 (C) iwoZ   (D) if’pe 
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74- Ram starts from his house and walks 

4 km North, then 3 km West, then 8 

km South. How many Km away from 

his home was he? 

(A) 6 km  (B) 7 km 

(C) 5 km  (D) 8 km 

75- A clock gains five minutes every 

hour. What will be the angle traversed 

by the second hand in one minute? 

(A) 3600   (B) 360-50 

(C) 3900   (D) 3800 

76- 975, 864, 753, 642, ? 

(A) 431   (B) 314 

(C) 531   (D) 532 

77- 8] 24] 12] \] 18] 54 

(A) 28   (B) 36 

(C) 46   (D) 38 

78- g - - g - - gh - g - i 

(A) hhiihh  (B) jkljkl 

(C) hijkli  (D) hihiih 

79- I, W, K, U, M, S, O, Q, ? 

(A) P   (B) L 

(C) Q   (D) M 

80- How many 9 are followed by an even 

number and preceded by an odd 

number in the following series? 

4 6 9 2 5 9 3 3 9 4 6 7 9 2 4 8 9 4 

(A) 4   (B) 3 

(C) 2   (D) 1 

81- Number of letters skipped in between 

adjacent letters in the series increases 

by one every time. Which of the 

following series observes this rule? 

(A) ACFKO   

(B) DGKPV 

(C) DBKAM  

(D) QSVXZ 

74- jke vius ?kj ls 4 fdeh mRrj tkrk gS] fQj 

3 fdeh if’pe] fQj 8 fdeh nf{k.kA og vius 

?kj ls fdrus feyksehVj nwj Fkk\ 

(A) 6 fdeh  (B) 7 fdeh 

(C) 5 fdeh  (D) 8 fdeh 

75- ,d ?kM+h izR;sd ,d ?k.Vs esa 5 feuV c<+ tkrh 

gSA lsd.M dh lwbZ ,d feuV ds vUnj fdrus 

dks.k ds cjkcj pDdj yxk,xh\ 

(A) 3600  (B) 360-50 

(C) 3900  (D) 3800 

76- 975, 864, 753, 642, ? 

(A) 431  (B) 314 

(C) 531  (D) 532 

77- 8] 24] 12] \] 18] 54 

(A) 28   (B) 36 

(C) 46   (D) 38 

78- g - - g - - gh - g - i 

(A) hhiihh  (B) jkljkl 

(C) hijkli  (D) hihiih 

79- I, W, K, U, M, S, O, Q, ? 

(A) P   (B) L 

(C) Q   (D) M 

80- fuEufyf[kr la[;k esa ,sls fdrus 9 gS ftuds 

ckn esa le la[;k rFkk igys fo"ke la[;k gS\ 

4 6 9 2 5 9 3 3 9 4 6 7 9 2 4 8 9 4 

(A) 4   (B) 3 

(C) 2   (D) 1 

81- fdlh v{kj J`a[kyk ds layXu v{kjksa esa ls NksM+ 

fn;k tkus okyk v{kj izR;sd ckj ,d&,d ls 

c<+rk tkrk gSA fuEuksDr J`a[kykvksa esa ls fdlesa 

bl fu;e dk ikyu fd;k x;k gSA 

(A) ACFKO   

(B) DGKPV 

(C) DBKAM   

(D) QSVXZ 
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82- If MIND becomes KGLB and 

ARGUE becomes YPESC, then what 

will DIAGRAM be in that code? 

(A) GLPEYKB (B) BGYEPYK 

(C) LKBGYPK (D) BGYPYEK 

83- If HONESTY is written as 5132468 

and POVERTY as 7192068. How is 

HORSE written in a certain code? 

(A) 50124   

(B) 51042 

(C) 51024   

(D) 52014 

Direction: Which of the following word 

cannot be    formed from the given word. 

84- STCTRUIONMISCON 

(A) STRICT   

(B) CONSTRUCTION 

(C) STATION (D) MOTION 

Direction: Which of the following word can 

be formed from the given word. 

85- PREMONITION 

(A) ACTION  

(B) NATION 

(C) MONITOR  

(D) REMOVE 

86- Statement:  Keeping the premises 

clean is not the responsibility of the 

government but that of the individual. 

Assumptions 

I. The government should share the blame 

for unclean premises. 

II. The individual has a role to play in 

keeping the premises clean. 

(A) Only I is implicit 

(B) Only II is implicit 

(C) both I and II are implicit 

(D) Neither I nor II is implicit 

 

82- ;fn MIND dks dwV Hkk"kk esa KGLB vkSj 

ARGUE dks YPESC fy[ksa] rks DIAGRAM 

dks mlh dwV esa fdu v{kjksa esa fy[ksaxs\ 

(A) GLPEYKB  (B) BGYEPYK 

(C) LKBGYPK  (D) BGYPYEK 

83- ;fn HONESTY dks 5132468 ds :i esa fy[kk 

tkrk gS vkSj POVERTY dks 7192068 ds :i 

esa] rks HORSE dks fdl :i esa dksM esa fy[kk 

tk,xk\ 

(A) 50124  (B) 51042 

(C) 51024  (D) 52014 

funsZ’k fuEufyf[kr iz’uksa esa ,d 'kCn nsdj mlds vkxs 

pkj vU; 'kCn fn, x, gSA muesa ls ,d fn, x, 'kCn 

ds v{kjksa ls ugha cuk;k tk ldrkA ml 'kCn dks Kkr 

dhft,& 

84- STCTRUIONMISCON 
(A) STRICT  (B)CONSTRUCTION 

(C) STATION  (D) MOTION 

funsZ’k fuEufyf[kr iz’uksa esa ,d 'kCn nsdj mlds vkxs 

pkj vU; 'kCn fn, x, gSA muesa ls ,d fn, x, 'kCn 

ds v{kjksa ls cuk;k tk ldrkA ml 'kCn dks Kkr 

dhft,& 

85- PREMONITION 

(A) ACTION  (B) NATION 

 (C) MONITOR (D) REMOVE 

86- dFku ifjlj dks lkQ j[kuk ljdkj dk dRrZO; 

ugha gS cfYd O;fDr dk gSA 

iwokZuqeku 

I. ljdkj dks vLoPN ifjlj ds vkjksi dk Hkkxhnkj 

cuuk pkfg,A 

II. O;fDr dks ifjlj dks lkQ j[kus esa ,d Hkwfedk 

fuHkkuh gksxhA 

(A) dsoy I fufgr gS 

(B) dsoy II fufgr gS 

(C) I vkSj II nksuksa fufgr gS  

 (D) u I vkSj u gh II fufgr gS 
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87- Statement Physical exercise is 

necessary for good health. 

Conclusions 

I. John plays Tennis at age of seventy. 

II. Men with irregular habits have to go to 

hospital. 

(A) Only I follows 

(B) Only II follows 

(C) Neither I nor II follows 

(D) Both I and II follow 

88- Kathir is senior to Ganesh, Ganesh is 

senior to Apparu. Apparu is junior to 

Raju. Raju is junior to Ganesh. Who 

is the most senior? 

(A) Ganesh  (B) Raju 

(C) Kathir  (D) Apparu 

89- On the seven members panel sitting in 

a row X is to the left of Y, but on the 

right of O. P is on the right of Y, but 

is on the left of N and M is on the left 

of Z, Who is to the left of O. Find the 

member sitting right in the middle. 
(A) Z   (B) P 
(C) X   (D) O 

90- Find the missing number in the given 

diagram. 

 
(A) 04   (B) 01 

 (C) 02   (D) 03 

91- Find the number which can complete 

the given series. 

6 5 7 

7 8 4 

11 12 ? 

462 480 224 

(A) 7   (B) 8 

(C) 6   (D) 9 

87- dFku vPNs LokLF; ds fy, 'kkjhfjd O;k;ke 

vko’;d gSA 

fu"d"kZ 

I. tkWu 70 o"kZ dh vk;q esa Vsful [ksyrk gSA 

II. vfu;fer vknrksa okys O;fDr;ksa dks vLirky tkuk 

iM+rk gSA 

(A) dsoy I fudyrk gS 

(B) dsoy II fudyrk gS 

(C) u rks I vkSj u II fudyrk gS 

(D) I vkSj II nksuksa fudyus gS 

88- dkfFkj] x.ks’k dk ofj"B gSA x.ks’k] vIik: ls 

ofj"B gSA vIik:] jktw ls ofj"B gSA jktw] 

x.ks’k ls dfu"B gSA lcls ofj"B dkSu gS\ 

(A) x.ks’k   (B) jktw 

(C) dkfFkj  (D) vIik: 

89- lkr lnL;ksa dk ,d lewg ,d iafDr esa cSBk gS] 

x dh fLFkfr y ds ckbZ vksj gS] ij og O ds 

nkfguh vksj gSA P dh fLFkfr Y ds nkfguh vksj 

gS ijUrq N ds ckbZ vksj gS vkSj M dh fLFkfr 

Z ds ckbZ vksj gS tks O ds ckbZ vksj gSA 

fcYdqy e/; eas cSBs lnL; dk irk yxk,¡ 

(A) Z   (B) P 

(C) X   (D) O 

90- yqIr la[;k Kkr dhft,& 

 

(A) 04   (B) 01 

(C) 02   (D) 03 

91- 6 5 7 

7 8 4 

11 12 \ 

462 480 224 

(A) 7   (B) 8 

 (C) 6   (D) 9 
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92- X and her grandfather differ in their 
ages by 50 years. After 6 years, If the 
sum of their ages is 152, their present 
ages are 

(A) 24 years 74 years  

(B) 26 years 76 years 

 (C) 45 years 95 years  

 (D) 25 years 75 years 

93- Which one of the given responses 
would be a meaningful order of the 
following? 

1. Presentation   2.Recommendation 
3. Arrival  4. Discussion 
5. Introduction 
(A) 5]3]4]1]2  (B) 3]5]4]2]1 

(C) 5]3]1]2]4  (D) 3]5]1]4]2 

94- Arrange the following words according 
to English dictionary. 

1. Preposition 2. Preparatively 
3. Preposterous 4. Preponderate 

5. Prepossess 

(A) 2]4]1]5]3  (B) 5]4]1]2]3 

(C) 4]5]2]1]3  (D) 5]4]2]1]3 

95- Two positions of a dice are shown 

below. When number 1 is on the top, 

what number will be at the bottom? 

 
(A) 3  (B) 5 

(C) 2  (D) 6 

96- Which of the diagrams given below 

correctly represents the relationship 

among Gas, Water and Helium? 

 
 

92- x vkSj mlds nknk th dh vk;q esa 50 o"kZ dk 

vUrj gSA ;fn N% o"kZ ckn mudh vk;q dk ;ksx 

152 o"kZ gksxk rks mudh orZeku vk;q gksxhA 

(A) 24 o"kZ] 74 o"kZ (B) 26 o"kZ] 76 o"kZ 

(C) 45 o"kZ] 95 o"kZ (D) 25 o"kZ] 75 o"kZ 

fuEufyf[kr fodYiksa esa ls dkSu lk uhps fn, gq, 'kCnksa 

dk lkFkZd Øe n’kkZrk gSA 

93- 1. izLrqfr  2. flQkfj’k 

3. vkxeu  4. ppkZ 

5. ifjp; 

(A) 5]3]4]1]2  (B) 3]5]4]2]1 

(C) 5]3]1]2]4  (D) 3]5]1]4]2 

fuEufyf[kr 'kCnksa dks vaxzsth 'kCndks’k ds vulqkj Øe 

ls j[ksa 

94- 1. Preposition 2. Preparatively 

3. Preposterous 4. Preponderate 

5. Prepossess 

(A) 2]4]1]5]3  (B) 5]4]1]2]3 

(C) 4]5]2]1]3  (D) 5]4]2]1]3 

95- ,d ikls dh nks fLFkfr;k¡ nh x;h gSa tc 1 Åij 

gS rks uhps dkSu&lh la[;k gksxh\ 

 

(A) 3    

(B) 5 

(C) 2    

(D) 6 

96- uhps fn, gq, js[kkfp=ksa esa ls dkSu lk js[kkfp= 

xSl] ikuh vkSj ghfy;e ds ikjLifjd lEcU/k dks 

lgh iznf’kZr djrk gS\ 
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97- In the following Venn diagram identify 

the letter which denotes Players, who are 

also Doctors but, not Artists. 

 
(A) B+E  (B) E 

(C) B   (D) A 

Directions: In the following question is a 

word represented by only one set of 

numbers as given in any one of the 

alternatives. The sets of numbers given in 

the alternative are represented by two 

classes of alphabets as in the 2 matrices 

given below. The columns and rows of 

Matrix I are numbered from 0 to 4 and that 

of Matrix II from 5 to 9. A letter from these 

matrices can be represented first by its row 

and next by column number. For example, N 

can be represented by 04, 24 etc. Similarly, 

you have to identify the set for the word 

given in the question 

 Matrix- I   Matrix- II 
 0 1 2 3 4   5 6 7 8 9 

0 R A S C B  5 O B K E P 

1 N C A S R  6 B P O K E 

2 R S C A N  7 E K P O B 
3 N A S C R  8 K O E P B 

4 R C N A S  9 P E B K O 
 

98- REAP 

(A) 34, 58, 01, 95 (B) 00, 59, 12, 58 

(C) 23, 75, 40, 95 (D) 20, 87, 59, 43 

 

97- fuEufyf[kr osu vkjs[k esa] mu v{kjksa dh 

igpku dhft, tks f[kykfM+;ksa dks] tks MkWDVj Hkh 

gksa] ijUrq dykdkj ugha dks n’kkZrsa gS 

 

(A) B+E  (B) E 

(C) B   (D) A 

funsZ’k ,d 'kCn dsoy ,d la[;k lewg }kjk cuk;k 

tkrk gS] tSlk fd fodYiksa eas ls fdlh ,d esa fn;k x;k 

gSA fodYi eas fn;s x;s la[;k lewg] v{kjksa ds nks oxksZa 

}kjk cuk;s tkrs gS] tSlk fd uhps fn;s x;s 2 vkO;wg esa 

gSA vkO;wg I ds LrEHk vkSj iafDr dh la[;k 0 ls 4 nh 

xbZ gS vkSj vkO;wg II dh 5 ls 9A bu vkO;wg ls ,d 

v{kj dks igys mldh iafDr vkSj ckn esa LrEHk la[;k 

}kjk crk;k tk ldrk gSA mnkgj.k ds fy, N dks 04] 

24 vkfn }kjk crk;k tk ldrk gSA blh rjg ls 

vkidks iz’u esa fn;s x;s 'kCn ds fy, lewg crkuk gS 

 vkO;wg I   vkO;wg II 

 0 1 2 3 4   5 6 7 8 9 

0 R A S C B  5 O B K E P 
1 N C A S R  6 B P O K E 

2 R S C A N  7 E K P O B 
3 N A S C R  8 K O E P B 

4 R C N A S  9 P E B K O 

 

98- REAP 

(A) 34, 58, 01, 95  

(B) 00, 59, 12, 58 

(C) 23, 75, 40, 95  

(D) 20, 87, 59, 43 
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99- Question Figure 

 

Answer Figure 

 

100- Question Figure 

 

Answer Figure 

 

 

 

 

 

 

 

 

 

 

 

 

 

99- iz’u vkd`fr;k¡ 

 

mRrj vkd`fr;k¡ 

 

100- iz’u vkd`fr;k¡ 

 

mRrj vkd`fr;k¡ 

 

 

  



 

 

18 

ANSWER KEY PATWARI-100 
1.  C 51.  C 

2.  C 52.  A 

3.  C 53.  A 

4.  A 54.  D 

5.  B 55.  C 

6.  B 56.  B 

7.  C 57.  B 

8.  C 58.  C 

9.  C 59.  B 

10.  A 60.  A 

11.  C 61.  D 

12.  A 62.  A 

13.  D 63.  D 

14.  D 64.  A 

15.  C 65.  D 

16.  B 66.  D 

17.  A 67.  D 

18.  C 68.  C 

19.  D 69.  C 

20.  D 70.  A 

21.  B 71.  C 

22.  A 72.  B 

23.  D 73.  A 

24.  C 74.  A 

25.  B 75.  B 

26.  B 76.  C 

27.  B 77.  B 

28.  C 78.  D 

29.  B 79.  C 

30.  D 80.  C 

31.  D 81.  B 

32.  C 82.  B 

33.  B 83.  B 

34.  B 84.  C 

35.  B 85.  C 

36.  D 86.  B 

37.  A 87.  B 

38.  D 88.  C 

39.  D 89.  C 

40.  B 90.  C 

41.  A 91.  B 

42.  C 92.  C 

43.  C 93.  D 

44.  D 94.  A 

45.  A 95.  B 

46.  C 96.  D 

47.  D 97.  C 

48.  B 98.  A 

49.  D 99.  B 

50.  B 100.  A 

 


